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HSSM 4302/PH. 6.11

Special Examination — 2012

PRODUCTION AND OPERATION MANAGEMENT
Full Marks —-70

Time: 3-Hours

Answer Question No. 1 which is compulsory and any five from the rest.
The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10
(a) What is Degree of Automation ?
) Describe EOQ.
) What do you understand by Capacity Utilization rate ?
) Write down any three reasons for Carrying Inventory.
) What do you mean by KANBAN ?
(f) Compare between free float and independence float.
(g) Whatis External failure cost ?
(h) What are the factors considered for facility location decisions ?
(i) Whattypes of layout is followed for construction of concrete river bridge ?

=

() Whatis a master production schedule ? .
2.  Whatis degree of vertical integration? What are the prime factors which affect

process design decisions ? 10
3. In the bellow table, list of the demand of washing machines in the city of

Bhubaneswar for a period of eight months (Jan - Aug) is given.

Month Jan Feb Mar Apr May Jun Jul Aug

Demand 112 125 135 150 160 175 165 172

P.T.O.
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(a) Forecast the demand of May through August using three- month simple
moving average. 3

(b) Use exponential smoothing with o = 0.3 to estimate demand from April to
August. 4

(c) Use MAD to decide which method produced the better forecast over six
month. 3

4.  What s cost leadership strategy ? Write down the operational strategies to be
followed to support the decision of the management of an established company.

3+7
5. Whatis TQM ? What are the important elements of TQM ? Explain how each
element contributes to products and services of superior quality. 2+3+5

6. How will you manage capacity in service operations ? Discuss with Examples.
10
7. Anannual sale of ground nuts in Reliance Fresh is 20,000 kg. The lead time is
constant and is 10 working days. The cost of placing an order is Rs. 1,600/- and
the annual holding cost are 20% of the average investment, where the unit cost is
Rs. 20/-. It is found from the historical data that the demand during lead time has

been up to a maximum level of 150 kg/ day.

(a) Whatis the re-order level when the safety stock level found by you is kept in
stock ? 3
(b) Whatisthe average level of inventory stock held ? 4
(c) Whatis the ordering cost and carrying cost associated with this fixed order
inventory policy assuming that there are 250 working daysinayear? 3
8.  Explain the relationship between quality and productivity under JIT concept. 10
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